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Answer either in English or in Assamese

( For Arts )
( Basic Statistics for Economics )
1. Answer the following as directed 1x7=7
o PR A SEml Seg foa
(a) The geometric mean of 51— and el is
L o 83 gt g G|
32 25
p—
I ——
(i) 10
9 1
(1!} m
(i) 10
(iv) 100
(Choose the correct answer)
(o Ta3chr Aife Sfore)
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(b) If the minimum value in a series is 20

and its range ig 47, the maximum value
of the series ig

wﬁqﬁsmﬁwﬁmmﬁmmwﬂ"ﬁ
47@,%@%%%@%2’3
(i) 67

(i) 57
(i) 48
(iv) None of the aboye
ST 9Bre ey
(Choose the correct answer)
(9% Taachr iR LRied)

c Ifris the Correlation Coefficient, then |
the quantity 1 -r2) is called |

(Chooge the correct answer)

(0% sy iR efered)

e
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(3)

(@) Show that
e @
(GM)? = AM xHM

What is scatter diagram?
o f5a 5 7
{I'e 2= E%—E- is called ]
Z = X-bs @l
&
(Fill in the blank)
(314t 5%

Show that o )
o Al e

E(CX)=CE(X)
where, C is constant.
'S C 401 T |

(9)

wer the following questions : 2‘ =
* x4=8
o &S Tad ford
correlation  coeffici
. . 1 1
tric, 1.€., rx}; =rm. HEnt 1s

A BIRP M, ok

, Ans
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(@)

prove

symme
gl TN
XY =TyX" )

e mathematlcal expectation

pefin
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(4)

(c) Assume that for two random variables X
and ¥, the sample covariance

1 — —
;‘_—IE(X'"XJ(Y-Y]

_ . 0
'S negative. In such a case, the tW

A e
TeBression coefficients would also P
negative. Why?

XA QP Wfeew vy x o va oA
T2 ;

A1 2X-X) (v -7
*‘ﬂ‘ﬂ%lﬁ‘imﬁwﬁ?ﬂ‘iﬁe T
R

(d) State the conditions under which
() AM > GM > gy

(ii) AM=GM=HM
ﬁwmm

a) What ideal
(@ measuare ¢ Tequisites for an id
re of Centrg) tendency?

gwﬁs&f“% WIS oo

T _



(5)

(b) Compute the 3rd quartile from the
following frequency distribution :

o IAEREl REETd *[1 g 5gds A

EalE
Class Interval Frequency
0-10 4
10-20 9
20-30 14
3040 8
40-50 5
(c) For two mutually exclusive events A and
B, show that
o Mg TN A WF B IA
@yea
p(A+B)=P(A) + P(B)- P(AB)
(d) Given/fl (TR
No. of accidents No. of days
W R fe4q e3m
0 46
1 ?
2 ?
3 25
4 10
5 )
Total = 200

is. 1'46, calculate the
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(6)

() () State the physical significance of
Zero correlation.

TV R (ST sl Sead 90 |
(i) What does r2 signify?
rA3 e f g ‘

(i) If two

lines of regression are
y+2x=0

and 8y+x=0, find r.

3
4. Answer the follmmng Questions Lo+
O P T ey
(a) Eithep /3
Dei:'me medlan and mean devlauon
g:::gvanta three advantages a.:n
: me
deviatio, Sk it
LRI TG o K@ figr | 2O
Fof ﬁ“%%ﬂwl
Or / woy
The life of gj

. in
a life tegt: tycondensers obtained

y en
Presented b 8 expe!‘lment, has be

F iorl,
caleylage (i)elov: For the distributio

deviation, -* Mean 4 4 (i) standar

( Confiﬂugd‘




(7))

ﬁﬂamﬂaﬁwwﬁmqmqﬁa

e 4= S 9T I G OIRATITS Tyl
xR | WX OIRER R () T AE (i) T
fRvee s 90
Year No. of condensers
™I Rge 493 R
0-1 _ 3
1-2 9
2-3 2
34 8
4-5 11
5-6 13
67 12
7-8 8
89 9
o-10 5
(b) Either | 3
When is rank correlation  used?

Calculate Spearman’s coefficient of rank
correlation from the following :

@B A o TR W ? TS sl U

o] TR i s e AT 390 :
Rankan12835745
X3 @ :
Rankon53214736
Y3 oo

Or / SI%[_r

Find out the regression coefficients of Y

on X and X on Y on the basis of the

following data :

( Turn Over )




(c)

ZX =250, 3¥ =300, ¥ xv - e
ZX? =6500, 2Y2 =10000 and

Bither / zg ]
meant by  exhaustive

ts
Usive, independent eV‘::h;
simple eyep, S and compound even
Probabilityp

R 0y
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T T oy SLELE RN
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. Fin
) - “ention jig properties. an |
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12 ang Variance 8
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(9)

( For Science )
( Introduction to Econometrics )

5. Answer the following as directed : 1x7=7

wore TP focl Sregi e faat -

(a) Distinguish between a parameter and a
statistic.

<51 $T5e1 O b1 2ifrfer S A o |
The estimator XX /n of population
mean is

SR MY AR TX /n A
(i) unbiased estimator
o)l AL
(ii) consistent estimator
sofSeyf AT

(iii) Both (i) and (i)
(i) ST (i) T
(iv) Neither (i) nor (ii)

(i) 1 (i) 9018 T
(Choose the correct answer)

(v Tagehr AR Bfred)

What is meant by test of significance?

srefsrer < Jferce R 3@ 2

Define coefficient of determination.

e @ensa igeT il |
(TumOveT).

,___——-d

(b)

(c)

(@)




( 10 )

(e} Whether a tegt g one-tailed or
two-tailed depends on

U BT AR - 1 RR G
ey 33
(i) null hypothesis
Re o o
(i) alternatiye hypothesis
51 o8 @
(ii}) simple hypothesis
T AR SR EiG)
(iv) composite hypothesis
EARARCL S
(Choose the correct answer)

(9% Swactr iR e
() Mention two t-test
statistic, HesRacl ths

;ﬁ‘wﬂ&i‘fmﬁmﬁww

(@) Write two Measureg of ¢ f fit’.
‘ 8oodness o
T Ry

_ *tfRaet forey |
6. Answer any fo,, of the following questions :

S R Qe wig, TR g foreg

fa) Under §tandard assumptions of a linear
gigﬂg‘»smn odel, o0 Properties do
: %;3 Ls SStimatgrg Possess?
w%h%om%ﬁ TR Soy ;";}”f;rr}
FE?

o8



(b)

()

(d)

(e)

(11 )

Distinguish between -point "estimation
and interval estimation.

{3 steren S RS 17 e =nefer fora |
Write any two properties of partial
correlation coefficient.

P TETEE 8w RO@e wor @&Re
farn 1

Name the problems that arise in the
estimation of a linear regression model,
when the assumptions of (u,?) =52 and

E (u;uj) =0 are violated.
@fsq YR E @f?) = 62 oF E(u.-uj) =0
Teea $91 W, @RS TR S TS T
2R SEPTICARA R o4 1
You are given :

Mean Standard deviation

Brand A 16000 km 2000 km
Brand B 20000 km 4000 km

Assuming normal distribution, indicate
what percentage of Brand B might be
expected to run more than 24000 km.

comre fan (2R

g A e
a@a A 16000 . 1. 2000 . f.
@e B 20000 f. f. 4000 . .

oA A% 4Rt oyew @, @@ B
04000 AT B REM e 3T

¢ 7T | .
(TumOver)
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Determine the Probability of
Pl25sX <15,
WA X 9B ey TS I A4 10
F A7 Roem 4. Pll2agsx < 157 8re
R 791
Answer any three of the followmg questions
o R e Ry R e foyg
(a) What are the ch

(b)

(c)

(@)

aracterigt; ood
estimator? Explai, tics of a g

Clea_rly_
bl Boe THRR
T PEPTR Ry oo
What do yoy

fo Mean p fa
dlsmt-mtml.l? What 4 pazalgaert:ge(t)ers
Of l.Jan.n'na], OiSSOn and normal
distribution?
901 IBR ooy e f
?
I S ey I amw&ﬁg; 3o
Mention tp ;
with tests o? s‘fanous Steps  associated
e.

1gnificﬂnc
LTS o R




(e)

(13 )

In the context of hypothesis testing,
explain  briefly the terms null
hypothesis, alternative hypothesis and
level of significance.

o5 AT TS, R oow, Res o495 e
TR T A 47 |
8. Answer the following questions : 10x3=30
Sere fran ey Teq for
(@) Either | &

Show that (i) the mean of the binomial
distribution is np and (ii) the variance of
the binomial distribution is npg, where n
is number of trials, p is the probability
of success of an event and g is the

“probability of its failure.

3T @ (i) Faom 3% Mg np = (i) AR
IGT PRT npg, TS n oo WM, p 9O
WA FEIHACH GRS wF g O
gl |

Or / weqy

Describe how Poisson distribution
arises. The following mistakes per page
were observed in a book :

No.of mistakes -: 0, 1 o 3 4
Frequency  : 211 90, 19 5 O
Fit a Poisson distribution to the data
and find the expected frequencies.
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